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#include <stdio.h>

int main(void){
int cl, c2;
printf("—DBOZUYEZ AL TH¥Nn");
scanf("%d", &cl);
printf(" —_DHEHOZEZ AL TR¥N");
scanf("%d", &c2);

if(cl > c2)

printf("%d (& %d &£DAREL¥Nn", cl1, c2);
else if(cl < c2)

printf("%d (& %d &£DAREL¥Nn", 2, cl);
else if(cl == c2)

printf("%d & %d (ZEUTI¥Nn", c1, c2);
else

printf("error.¥n");

return O;
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if(cl > c2)

printf(“%d (& %d & %d T:“D‘K%L\¥n”, @);

else if(cl < c2)

printf(“%d (& %d &D %d T:“Uj(%(,%n”, @;
else if(cl == c2)

printf(“%d & %d ([FELUTI¥n", c1, c2);
else

printf("error.¥n");
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#include <stdio.h>

//BECRN
void ArrangeNum(char c1, char c2);

int main(){
char c1, c2, buf;
printf("please enter first character.¥n");
scanf("%c", &cl);
buf = getchar(); //CNHRVWEZXXFEZAI—-93
printf("enter second character.¥n");
scanf("%c", &c2);

[/ AR FINLFDHIE

if('a' <=¢cl && cl <="7' & 'A' <=2 && c2 <= "Z")
cl -= 32;

else if('A' <=cl1 && cl <="Z'"&& 'a' <=2 && c2 <="7")
c2 -= 32;

by

if(cl < c2){
printf("%c appers before %c¥n", c1, c2);
ArrangeNum(cl, c2);
¥
else if(cl > c2){
printf("%c appears after %c¥n", c1, c2);
ArrangeNum(c2, c1);
¥
else if(cl == c2)
printf("%c and %c are the same¥n", c1, c2);
else
printf("error.¥n");
return O;

/X F 58595 BE”
void ArrangeNum(char c1, char c2){

inti;

printf("...");

for(i=cl;i<=c2; i++)
printf("%c", i);

b

printf("...¥n");
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#include <stdio.h>!
\p
int main()
{l
int ;.
int wa =0;.
for(i=1;i<=50;i=i+2)/
{l
wa=wa+i;|
\p
printf("%d ¥n",wa); |
)
H

return 0; .
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int main()<{
Int x, y;

printf("%3d",

return O;
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int main(){
Int X, v;
|%Hv=hv<=1mv+ﬂ{ BEEMEEEHRDS
for(x =1; x <= 10; x++){
printf("%3d", |(y - 1) * 10 + Xx);[”
}
printf("¥n");
}
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for (y =10; vy >=1; y--){
for (x = 10: x >= 1; x--){
printf(“%3d", (y - 1) * 10 + x);
+
printf("¥n");
)

®3) DfFE

for (y =1;y <= 10; y++){
for (x = 10; x >= 1: x--){
orNtF("%3d", (x - 1) * 10 + y);
}
printf("¥n");
)
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-
#include <stdio.h>

int main(void) {
intsum =0, n;
while (sum <= 10}{
printf("ZUEZ AT UTTF S0\, ¥n");

scanf("%d", &n); ABEnESEEMNI TV

sum = sum + n;
printf("IRIEDIE(E %d TY . ¥n", sum);

sum B 10 KDENELE, EDIRY

b
printf("&&TH' 10 @B X FE L. ¥n");

return Oy

\} J

[break: EEVTIL—Th RT3t TTFS }
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/#include <stdio.h>

ATYITBZBADICHDE

int main(void) {
int n,|count = 0;

printf("n DIEZ AL TF =0 ¥n");
scanf("%d", &n);

WHLEN( (2) n 7' 1 TRURBEIRDIRYT
if(Nn% 2==0) <
(b) 1BERS 2 TEISD
} else
b

count++:

b
printf(“ 27w J#(% %d T, ¥n", count);

return O;




I OL0




